V III	Broward County Public School	ols RECOMM	IENDATI(ON TABULAT	ΓΙΟΝ		
ITB #:	18-047B	Tentative Board Meetin	g Date*: Nov	vember 7, 2017			
ITB Title:	DISPOSABLE INDUSTRIAL WIPES	# Notified:	476	# Downloaded:	43		
		# of Responses Rec'd:	13	# of "No Bids":	0		
For:	MATERIAL LOGISTICS	Select One Opening Date :	August 30, 20	ugust 30, 2017			
Fund:	(School/Department) WAREHOUSE INVENTORY BUDGET	Advertised Date:	July 20, 2017				
Warehousing Serv	TB RECOMMENDATION/TABULATION: Select One Revices and www.Demandstar.com on SEPTEMBER 26, 2017 by the decision or intended decision shall file a notice of protein	@ 3:00 pm and will rem	ain posted for 7	72 hours. Any person	who is		
or intended decision protest or failure to	on. The formal written protest shall be filed within ten (10) do of file a formal written protest shall constitute a waiver of proceduritten protest shall state with particularity the facts and law u	ays after the date the notice eedings under this chapter.	e of protest is fi Section 120.57	led. Failure to file a n (3)(b), Florida Statute	otice of es, states		
days during which Director of Procure	in the District is closed shall be excluded in the computation of the Edward Services, 7720 West Oakland Park Boulded decision shall post with the School Board, at the time of f	of the 72-hour time period levard, Suite 323, Sunrise, I	provided. Filing Florida 33351. <i>A</i>	gs shall be at the offic Any person who files a	e of the n action		

(*) The Cone of Silence, as stated in the ITB / RFP / RFQ / HARD BID, is in effect until it is approved by SBBC. The Board meeting date stated above is tentative. Confirm with the Purchasing Agent of record for the actual date the Cone of Silence has concluded.

Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post the bond required by SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of the right to protest.

RECOMMENDATION TABULATION

VENDOR NAME(S)	ITEM(S) AWARDED
ALL FLORIDA PAPER, LLC	PRIMARY: 1
*THE OFFICE CART, LLC AFRICAN-AMERICAN	ALTERNATE: 1
*CERTIFIED S/M/WBE VENDOR	

RECOMMEND THE AWARD BE MADE TO THE BIDDERS LISTED ABOVE. THE LOW BIDDER WILL BE THE DISTRICT'S PRIMARY VENDOR. IF THE LOW BIDDER IS UNABLE TO MEET THE BID REQUIREMENTS, THE ALTERNATE VENDOR WILL BE UTILIZED.

IT IS RECOMMENDED THAT FOR REASONS STATED ON THE ATTACHED BID REJECTION SHEET, THE BIDS AS STATED, EITHER IN THEIR ENTIRETY OR FOR THE PARTICULAR ITEM (S) LISTED, BE REJECTED FOR NOT COMPLYING WITH BID REQUIREMENTS.

CONTRACT PERIOD: JANUARY 1, 2018 THROUGH DECEMBER 31, 2020.

By:	Larissa Seda	Date:	September 26, 2017	
	(Durchesing Agent)		<u> </u>	

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Bid No.: 18-047B Disposable Industrial Wipes Rejection Sheet

Reject Bid from <u>Continental & Global Services</u>. Section 1. Bidder Acknowledgement states: "In accordance with General Condition 1, this section must be completed in its entirety including the signature of an authorized representative where indicated below and submitted with the bid. Failure to provide this document, with the bid, will result in bid being considered non-responsive." Bidder is nonresponsive as they failed to sign the Bidder Acknowledgement section.

<u> </u>	Con disting Agent. Lanca Sad												
	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET			AFP INDUSTRIES, INC Miami, FI			ALTA O Fresno	ALL FLORIDA PAPER, LLC Medley, FI					
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	Bid Unit Price	Bid Price Extension	5% Pref. Unit Price	Pref. Price Extension	Bid Unit Price	Bid Price Extension	AWARD	
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.02549	\$ 538,348.80	\$ 0.0245	\$ 517,440.00	\$ 0.03	\$543,312.00	\$ 0.0200	\$ 422,400.00	Р	
	(SBBC 1000129)				· ·		-						
	Legend:												
	P-Primary Awardee												
	A-Alternate Awardee												
												Ш	
												igsquare	

REMARKS:

	THE SCHOOL BOARD OF BROWARD (COUNTY, FLO	RIDA	CHI-ADA CORP Oakland Park, FI. (SBBC MWBE Bidder)					CLEARWATER DISTRIBUTION INC DBA GULFSTAR SUPPLY			
	BID TABULATION SHI	EET			,	Largo, Fl						
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	MWBE Incentive Multiplier	MWBE Unit Price	MWBE Price Extension	Bid Unit Price	Bid Price Extension		
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.0257	\$ 542,784.00	0.90	\$ 0.0231	\$ 488,505.60	\$ 0.0287	\$ 606,144.00		
	(SBBC 1000129)											
	Legend:											
	P-Primary Awardee											
	A-Alternate Awardee											
		<u> </u>										
_								· ·				
		-										

REMARKS:

~	THE SCHOOL BOARD OF BROWARD	COUNTY ELO	DIDA							
	THE SCHOOL BOARD OF BROWARD (IKIDA		GL Medley, Fl		IMPERIAL DADE Miami, FI				
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	MWBE Incentive Multiplier	MWBE Unit Price	MWBE Price Extension	Bid Unit Price	Bid Price Extension
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.0257	\$ 542,784.00	\$ 0.90	\$ 0.0231	\$ 488,505.60	\$ 0.02448	\$ 517,017.60
	(SBBC 1000129)									
	Legend:									
	P-Primary Awardee A-Alternate Awardee									
	A-Allemate Awardee									
		I	l		I		I			l

REMARKS:

A	THE SCHOOL BOARD OF BROWARD OF BID TABULATION SH	ORIDA	NEELD PAPER & SUPPLIES INC West Palm Beach, FI (SBBC MWBE Bidder)					
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	MWBE Incentive Multiplier		
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.0330	\$ 696,960.00	\$ 0.90	\$ 0.0297	\$ 627,264.00
	(SBBC 1000129)							
	Legend:							
	P-Primary Awardee							
	A-Alternate Awardee							
		1						

REMARKS:

$\stackrel{\sim}{=}$	THE SCHOOL BOARD OF BROWARD (COUNTY, FLC	RIDA							
					OLIVE BRANC Lantana, FI				1	IOOL PRODUCTS
	BID TABULATION SHI	ET			Lantana, Fi	Tampa, FI				
ltem	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	MWBE Incentive Multiplier	MWBE Unit Price	MWBE Price Extension	Bid Unit Price	Bid Price Extension
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.0300	\$ 633,600.00	0.90	\$ 0.0270	\$ 570,240.00	\$ 0.0261	\$ 551,232.00
	(SBBC 1000129)									
	Legend:								-	
	P-Primary Awardee									
	A-Alternate Awardee									
									<u> </u>	
i		I	I		I	I	l	l	II	ĺ

REMARKS:

Bid No.: 18-047B **DISPOSABLE INDUSTRIAL WIPES** Bid Opened: 09/06/2017

uyer/Ρι	ırchasing Agent: Larissa Seda										
	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA				REX CHEMICALS Miami, FI (SBBC MWBE Bidder)						
	BID TABULATION SHE	EET		Miami, Fi (SBBC MWBE Bidder)							
						MWBE					
				Bid Unit	Bid Price	Incentive	MWBE	MWBE Price			
Item	Description	Quantity	Unit	Price	Extension	Multiplier	Unit Price	Extension			
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.0350	\$ 739,200.00	0.90	\$ 0.032	\$665,280.00			
	(SBBC 1000129)										

Legend: P-Primary Awardee A-Alternate Awardee

REMARKS:

	THE SCHOOL BOARD OF BROWARD BID TABULATION SI	ORIDA	THE OFFICE CART, LLC Ft Lauderdale, FI (SBBC MWBE Bidder)							
Item	Description	Quantity	Unit	Bid Unit Price	Bid Price Extension	MWBE Incentive Multiplier	MWBE Unit Price	MWBE Price Extension	Award	
1	DISPOSABLE INDUSTRIAL WIPES	21,120,000	EA	\$ 0.0251	\$ 530,112.00	0.90	\$ 0.0226	\$ 477,100.80		
	(SBBC 1000129)									
									igwdot	
	Legend:		-						\longmapsto	
	P-Primary Awardee A-Alternate Awardee								\longmapsto	
	A-Alternate Awardee								\vdash	
									\vdash	
									\vdash	
									\Box	

REMARKS: